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8 Problems in Solving Right Triangles (Part 2 of 4) 
(Part 2) 

 

SELECTED SOLUTIONS 
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(a)  cos(𝜃) =
1.5

9.0
    ⟹     𝜃 = cos−1 (

1.5

9.0
) = 80°. 

 

(b)  1.52 + 𝑦2 = 9.02     ⟹     𝑦2 = 9.02 − 1.52 = 78.75    ⟹     𝑦 = 8.9 m. 

 

 

3.   
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(a)  sin(60°) =
𝑦

18
    ⟹     18 sin(60°) = 𝑦    ⟹     𝑦 = 15.59 ft. 

 

(b)  cos(60°) =
𝑥

18
    ⟹     18 cos(60°) = 𝑥    ⟹     𝑥 = 9.00  ft.  
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sin(𝜃) =
6.5

6.7
    ⟹     𝜃 = sin−1 (

6.5

6.7
) = 75.97°. 

 

 

7.   
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sin(58°) =
𝑦

500
    ⟹     500 sin(58°) = 𝑦    ⟹     𝑦 = 424 ft. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
“Only he who never plays, never loses.” 
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